Łochów, dnia 15.03.2021r.

Wskaźnik zwiększający dla szkół podstawowych wiejskich

Wbt-1 – 10.014.968,95 zł
Ot-1 – 	      183.140,00 zł
Dpt-1 –         79.421,38 zł
WbPt-1 –               0,00 zł
St-1 –       6.917.556,92 zł
Lut-2 – 607
Lut-1 – 584


           10.014.968,95– (183.140,00+79.421,38)
         	                       2/3 x 607+ 1/3 x 584                         111  
Wzt =                              6.917.556,92
   			              607

 
               10.014.968,95 – 262.561,38              9.752.407,57             16.271,91
	                 404,67+ 194,67          = 1        599,34             =     11.396,30    =   1,428
  Wzt =                   11.396,30                            11.396,30


        






Sporządziła: Marlena Cyrych-Ziółkowska

